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2 EERM-Schema

Level 0:
Person=({Name, Age, Address}, {Name, Address})
Video=({VidNo}, {VidNo})
DVD=({DvDNo, Features}, {DvDNo})

Cluster of Level 1:
Type=Video⊕DvD

Level 1:
Customer=({Person},{CustNo},{CustNo})
Staff=({Person},{StaffID},{StaffID})

Level 2:
Movie=({Type},{Title, Length},{Title, Type})

Level 3: Hire=({Customer, Staff, Movie},{Date}, {Customer, Staff, Movie,Date})
Sequel=({is:Movie,for:Movie},∅, {is:Movie,for:Movie})
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3 RDM Schema

Person={Name, Age, Address} with minimal key {Name, Address}
Video={VidNo} with minimal key {VidNo}
DVD={DvDNo, Features} with minimal key {DvDNo}

Video Movie={Title, Length, VideoNo}
minimal key {Title, VideoNo}
foreign key [VideoNo] ⊆ Video[VidNo]

DVD Movie={Title, Length, DvDNo}
minimal key {Title, DvDNo}
foreign key [DvDNo] ⊆ DvD[DvDNo]

Customer={CustNo, CustName, CustAddress}
minimal key {CustNo}
foreign key [CustName, CustAddress] ⊆ Person[Name, Address]

Staff={StaffID, StaffName, StaffAddress}
minimal key {StaffID}
foreign key [StaffName, StaffAddress] ⊆ Person[Name, Address]

Sequel Video={IsSequel VideoTitle, IsSequel VideoNo, For VideoTitle, For VideoNo}
minimal key Sequel Video
foreign keys:
[IsSequel VideoTitle, IsSequel VideoNo] ⊆ Video Movie[Title, VideoNo] and
[For VideoTitle, For VideoNo] ⊆ Video Movie[Title, VideoNo]

Sequel DvD={IsSequel DvDTitle, IsSequel DvDNo, For DvDTitle, For DvDNo}
minimal key Sequel DvD
foreign keys:
[IsSequel DvDTitle, IsSequel DvDNo] ⊆ DvD Movie[Title, DvDNo] and
[For DvDTitle, For DvDNo] ⊆ Video Movie[Title, DvDNo]

Hire Video={CustomerNo, StaffID, VideoTitle, VideoNo, Date}
minimal key Hire Video and
foreign keys
[CustomerNo] ⊆ Customer[CustNo],
[StaffID] ⊆ Staff[StaffID] and
[VideoTitle,VideoNo] ⊆ Video Movie[Title,VideoNo]

Hire DvD={CustomerNo, StaffID, DvDTitle, DvDNo, Date}
minimal key Hire DvD and
foreign keys:
[CustomerNo] ⊆ Customer[CustNo],
[StaffID] ⊆ Staff[StaffID] and
[DvDTitle,DvDNo] ⊆ DvD Movie[Title,DvDNo]
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